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Sequence Achievement Level Descriptor
1. fromx=-4tox=0 CCSS.Math.Content.8.F.B.5.WB
2. 748,000 or equivalent CCSS.Math.Content.8.EE.A.4.WB
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3. — p— CCSS.Math.Content.8.EE.B.6.WB
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°
4, CCSS.Math.Content.8.G.A.4.Bel
) )
p’
5. % CCSS.Math.Content.8.NS.A.1.At
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6. slalolals CCSS.Math.Content.8.F.A.1.Ab
Part A:
Part B: The set of ordered pairs does not represent a function because
the x-value of 0 is assigned to two different y-values.
Part A or Part B
Each week the value of the account has increased by $17.20.

r At the beginning of the year, there was $27.50 in the account. CCSS.Math.Content.8.F.B.4.Ab

8. (A]>[c]|>(8B] CCSS.Math.Content.8.G.C.9.Bel
the Sun

9. 400 CCSS.Math.Content.8.EE.A.3.Ab
the Moon

10. é CCSS.Math.Content.8.SP.A.2.Bel

11. 2and 3 CCSS.Math.Content.8.NS.A.2.Bel
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Music Club Members
Band | Chorus | Total
Seventh Graders | 0.25 0.30 0.55

CCSS.Math.Content.8.SP.A.4.At

12.
Eighth Graders 0.275 0.175 0.45
Total 0.525 0475 1.00
Part A: 0.3 or equivalent Part A:
Part B: Apple L uses more apples to produce 1 cup of juice than Apple K. CCSS.Math.Content.8.EE.B.5.At
13. Apple L uses twice as many apples as Apple K to produce 5 cups of juice. Part B:
CCSS.Math.Content.8.EE.B.5.WB
Part A or Part B
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14. < > X CCSS.Math.Content.8.G.A.1a.At
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15. 7cm CCSS.Math.Content.8.G.B.7.Ab
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